Nl B RS ERERE (R2. 4~3)
A|B [xEe|IRA£EE |ZHEE (8BRS (BEL AE ikl
10[13 70 gg,ggg BEHE| 1HE-PHER [HESME ;gffﬁﬁim%)
] 1% - SR %5
11]16 80 HEHME T
1288 HEDE gigsgiﬂ AT BHE (12)
5 7 8 T ot BEnE] SHRE o= A Z D
o - SRR S =1 x(4H5:\) 5IE&EEL(AREDRR)
7l 7 37 35,640 ;EJEE)T%?. SEHFIIE :It" %'J_Z(sﬁﬂ) EI%%tL(EKE’)*Z)
7 37 35640 ;mﬁam 2 ;ll% :E: ﬁ%IJ—X(iiJE 7 ) FlE%REL(HAREDHRR)
9| 7 59 35,640 ;JEJEE)T%?. 5EHFIIE :E %'J_Z(ﬂzﬂ) EI%%tL(EKE’)*Z)
o > 35,640 ;HEH% = Fll% :E: %IJ—X(SE 7 ) FlEEEL(HAREDHRR)
11] 9 79 35.640 %HEE)}%?, 5Eﬂ%ﬂ% i:t“— %'J_X(QH?\) %l%:}gtuaxt“:)xm
12| 7 93 35,640|38& % | SFIRIE :t"—idzig?ﬁ ?\; gg%itgg‘ziﬁzm
1l 7 103 35,640|sA%=m3c| SENRIE JE—#)—x (12 5 : s w
2] 8 114 35,640[3A=5% | SEIRIZE aE—#)—x( ﬁ/\j) %l%:}ﬁtb(eli#vQ@)b)
3] 8 126 35,640[3R=f% | SEIRIZE aE— %'J—X(zﬁf\) %I%%L—L(Eiﬂwtﬁ)b)
4] 7 136 35,640z | SEIRIE :E—ﬁ%l}—x(sﬁﬂ) %l%%&b(aiﬁvta)w
L7136 35040/ E A i 7) BI=ELL (B FrESIL)
225 14 59:4(7)2 Eggg; ggggg 35_112(& ?::) BlEZLL (Q=HI/ILAT /)
7] 27 41 38,669 [sA=r% | SEIRIE :|t"—1Jc(5JE ?\) ety
8] 24 52 56,410[3Az®% | SEIRIZ :t"—tc(BE ?‘) ety
o 2 A S S ZE_1J€E7J5 5:\) BIEELL(Q=ZAI/ILEDYIRY)
9,28 62 U B :E_tc(gﬁ P2} ) BlEHEEL(Q=HI/ILESvIRY)
11] 24 84 41,611|5a%HE| SENRIE :E—1Jc HJ}\) ety
12] 23 97 50,282 3=z | SEIRIE :t"—tc(mﬁ?‘) ety
125 107 72,502 3=z | SEIRIZE 35—146(11}57‘) ety
e o1 D 35_1{5125{3) BIEELL(QZHI/IILESwIRY)
L 2 I S :|t°—1Jt(;JE 5:\) BIEELL(QZHI/IILESIRY)
4] 23 138 44,162|3R=mE| SHIRIE :E—lﬁ(; ’2‘; gg%itgzzgs/;w:)wb)
T e r 3 AZAZ/ AT INY)
5[ 12 10 1,386,481 [HAHZ erggﬁé L e e = 3
2] 18 117 1,942 490|saEm% | 6/L3RE e e oo Aﬂﬁﬁﬁht‘ég e
Al 2 o R 4732 (16650080 K2 71 (16650080 | NBABHEM ST 2021 FXEFH
4117 4 24.861 | AEHE| IX= WL
519 13 24'221 Eggg; Zgﬂéﬁg ?J;IEEQ?ME ?jt) TR ENTN R
619 23 24861 amR| TREBAL %%1&(5}5?\) TR EN T N R
7117 39 24.861 [HEHE 7;&?]&% %:{.(6}55{) NI NN N NT
819 51 24861 EHE| TREBAL %Jﬂié(ﬁﬂ) TR EN N R
o[ 18 61 24861 EEHE| TREBAL %Jﬂfr(gﬁﬂ) NI NN N -NT
9,18 ! Jenn [ 7%\%)@ %:ﬁé(gﬁ ;3\) §H. B 5. BR. 5%, 88
10,19 72 Jeoo 7%\%)@ %ﬂf—ﬁ .(10ﬁ5;\) H. B A5, BR. 5%, 858
s 52 Jeno 7%\%)@ %;'ﬁﬁémﬁﬁ) H. B W5, BR. 5%, 88
214 25 Jen 7%\%)@ %51{(12)5/;\;) §H. B #F. BR. 7%. 88
e 106 Jeo 7;&%)@ %Jﬂfﬁ{’“ﬁjj\) §H. B P, BR. 5%. 88
a[19] 129 24861 [BEHE] INEBAR %J?F:;}E%Eﬂg NI NN N oNT
6[29] 28 3:22(7)(2) k] TREBAR [AEAE 1E. BB, B, AR, 51
8 7EI= &
5] 27 15 37,108 HERE 8?%1élé§ = Ao B— N ek 5 % X
6] 29 27 37,708 [sAEHE siﬁéﬁ 12 a—j:“j o th) %I%%&L(M:A)
7] 27 40 37,708 [sEHR 8551;% 4‘/9—1: “A\ 3 53\) gl%iﬁ&u&rm—\)
827 53 37108 BEwE| SBEE o= e L. Ahaicry
9] 28 63 37.708 HEHE 8551;E 4‘/9—: :‘A\ o 5)\) alae%*_au&zr:m
10] 27 74 37.708 REHE siﬁéﬁ 4‘/9 j:‘jb %E:-: (8)55]) L aET™
11] 27 86 37.708 HEHE 8551;E 4‘/9_1: “A\ %E:-: (QHJ’J\‘) alae%*_au&»r:m
12| 28 98 37.708[HEHE 8%1;% »r“/’st_j: \‘A\ %E:-: (10)515; L RGeS
127 108 37.708 ;HEE)T%?. 8551;E »r‘/ _j'\“ﬂ\ %E:-:mﬁ?\) a%%’_au«w:m
3] 1 120 37.708 ;JEJEE)T%?. 8551;% 4‘/9_1: \‘A\ %E:-: (12}5’7‘3\) L aET™
3] 29 131 37.708 ;JEJEE)BE 85@1;% 452—1:\{h %E:-: Gh ZJ\) %l%:};’_tb(&‘fr:!.\)
4] 27 139 37:708 %EJEE)T%?. 8551;% 4‘/9:1: :‘A\ %E:-: Gh n\) : %ﬁtu&r:m
RIS o3 = - LA—2yMEGREH(BA D) [BIEEEL(NAOL)
2 1:; 12 g 178,500 EJ%JEE)}%?. 02K AR BEH H5 4R
CIEH 22 148,280 |BEBZ 102 REMARAEH #HE5GAR)
oAy 38 1%,288 Elflﬁaﬂi, 102K AR BEH #HE5EBGAY)
817 20 , ZHEE)T;&, ORI AR BER HBEGTAY)
o7 153,000 sAE WL |osRrsnaERes |5 (8HS)
10116 ;} 170,000 |SAE B 102 iR HA R A2 w5 QAM)
oy 51 123,288 Elflﬁaﬁi. 02K AR BER #HE500AH)
211 56 161,500 ZJEJEE)}: 0RIRE AR BER HE5EW1AYD)
1He 105 10,000 ZJEJEE)}: Iof?ﬂe%m%%mﬁé HE502A%)
2 1 181500 ZJEJ?%:; Ioz?ﬁﬁ%m%%ﬁﬁﬁ #BEOAY)
SHI 127 123,000 Z@Eaﬁz Io:?m%ﬁfgﬁﬁﬁﬁ HBECAY)
6] 30 29 200,000 SEE:;: Iﬁf?fimf%%% 'ﬁ%g gl
12[10 94 200.000] &% Io;rzsfg:z:ﬁi fiig
B 34 T 181[Ew nenenarnen | BSHERE
5 % osrznaEnes | HENRIEE
4] 3 1 2'452'3% FEHE 11°1§¥%?£M“H Ed
: 076 {5A% 5% JL—3—1) =K 4A%) BlIEEELEY—TZ P
7 9 5076|sAEHMR |11 EHKE IL—3—)—ZRK (58 %) %I%%tb(&«ﬂ—v‘b;;i;i;




B |zHES|INALE [ZHEHE RERS|BE4R A& EE
3 19 5076[sEmE [11FHEE IL—E—)—ZRK (6B H) BlERLEL O Y—TIFAFUR)
3 33 5076 |sEHR |11 EHEE JL—E—)—ZAKR(THH) BlEELL O v—TIFAFUR)
3 45 5076[sEmE [ 11EHEE IL—E—)—ZRK (8B H) BlERLEL O Y—TIFAFUR)
3 58 5076 |sEHR | 11EHEE JL—E—)—ZXK (9B H) BlEELL O Y—TIFAFUR)
5 67 5076[sEmE [11EHEE JL—E—)—ZXK (108 5) BlERLELY—TIFAFUR)
4 78 5076[smEmE [ 11EHEE IL—E—)—ZK (1B H) BlERLEL (O Y—TIFAFUR)
3 90 5076 |sAEMR |11 EHKE IL—E—)—ZRK (128 H) BlERLELY—TIFAFUR)
4 102 5076[sxmE [11FHEE IL—E—)—ZK 1 BH) BlERLELY—TIFAFUR)
3 112 5076 |sAEHR |11 EHKE IL—E—)—ZRK (28 H) BlERLEL O Y—TIFAFUR)
3 124 5076|sxmE [ 11EHEE IL—3—)—ZRK (3 H) BlERLEL O Y—TIFAFUR)
7 5 23,328 |sEmR [11FHKEE Ny ) —RAAM4ER [BIERELEY—TIFA4FUR)
7 7 34,560 sAEmR [11EHEE NIV —R(AAR)5ES |5IEEELEY—TIFA4FUR)
7 6 27,000(sAEmE [11FHEE VAV —RAAR)AED [BIEEELECY—TIFAFUR)
3 17 23,328 |sEmR [11FHEE NYOVY—RGAR)AESD |5IEEELECY—TIF7A4FUR)
3 18 27,000(s=mE [11FHEE XYV —RGARAED [BIEEELECY—TIFAFUR)
3 16 34,560 sAEHE [11EHEE VAV —R(BEAR)5ESD [BIEEELEY—TIFAFUR)
3 31 23,328 ;=R [11EHEE VAV —R(G6AR)AED [BIEEELECY—TIFAFUR)
3 32 27,000(s=mE [11FHKEE XYV —R(G6AR)AED [BIEEELECY—TIFAFUR)
3 30 34,560 sAEmR [11FHKEE N\YaAV)—R(G6AR)SES |BIEEELEY—TIFA4FUR)
3 42 27,000(sA=EmE [11FHKEE NIV —RTAM4ER [BIERLELEY—TIFA4FUR)
3 43 23,328 |sEmR [11EHKE N\YOAV)—R(TAR)AESD |5IEEELECY—TIF7A4FUR)
3 44 34,560 sAEHE [11FHEE VAV —R(7AR)5ES [BIEERELEY—TI7AFUR)
3 55 23,328 ;=R [11EHEE XVav)—R(BAMAES [BIEEELEY—TIF7AFUR)
3 56 27,000(s=HE [11FHEE XYV —R(BARAED [BIEEELECY—TIFAFUR)
3 57 34,560 AR [11EHKEE NYaV)—R(BAMSER [BIEHRLLEY—TIFAFUR)
5 64 23,328 ;=R [11EHKE N\YaAVY—RQAMAESD |BIEELELEY—TIFA4FUR)
5 66 27,000(sA=EmE [11EHEE VAV —R QAR 4ED [BIEEELECY—TIFAFUR)
5 65 34,560 sAEmR [11EHEE N\YOAVY—R(QAR)SES |5IEEELEY—TITFA4FUR)
4 75 23,328 |sEmR [11FHKEE YAV —RU0AM)4ESD [BIEEELECY—TIFAFUR)
4 76 27,000(s=mE [11EHEE NYaVY—RA0AD)4ER |BIEHELECY—TITFA4FUR)
4 77 34,560 sAEmE [11FHKE XYV —RU0AR)5ES [BIEEELEY—TIF7AFUR)
3 87 23,328 ;=R [11EHKEE XYV =R AMAESD [BIEEELECY—TIF7AFUR)
3 89 27,000(s=mE [11FHEE VAV =R ARAES [BIEEELECY—TIFAFUR)
3 88 34,560 sAEHR [11FHEE VAV —R1AR)5ES [BIEERELEY—TIFAFUR)
1l 4 100 27,000 sAEm% |11 EHEE NIV —R(12A D) 4EH |5IEHELECY—TIT7A4FUR)
1] 4 101 23,328 |sEmR [11EHKE VAV —R12AM)4E5S [BIEEELECY—TIFAFUR)
1] 4 99 34,560 sAEmE [11EHEE N\YaVY—R(128 D) 585 |5IEHELEY—TIFA4FUR)
AR 109 23,328 |sEmR [11EHKEE NV )—RAABAM4ER [BIERELEY—TIFA4FUR)
AR 111 27,000(s=EHE [11EHEE XVavY—ZRA AN 4ES [BIEERELEY—TI7AFUR)
AR 110 34,560 sAEmE [11EHEE XVaVY—R(AAR)5ES [BIEERELEY—TI7AFUR)
3] 3 121 27,000(s=HE [11EHEE VAV —RCARMAESD [BIEEELEY—TIF7AFUR)
3] 3 123 23,328 |sAEmR [11EHKE NYaAV)—RCAR)AES |5IEELELECY—TIFA4FUR)
3] 3 122 34,560 |sAEm% |11 EHKE VAV —R2AR)EES [BIEEELEY—TIF7AFUR)
4] 5 134 27,000(s=EHE [11EHEE NIV —R@BAR)AESD |5IEHELECY—TIFA4FUR)
4] 5 135 23,328 |sEHR [11FHKEE NV —R@BAM4ER [BIERLELEY—TIFA4FUR)
4] 5 133 34,560 sAEmE [11EHEE NYaAVY—R(BA)SES [BIERELEY—TIFA4FUR)
4110 3 10,224 SRAEME 11%%% BHEEE A AT ATy T Z—r—ok—i0. dwsxrst | T—T . TIYRLIN—DF7 L)L, TS5V TFAIL
5/13 11 2684|EHE | NIEHE EHEASE A—/—4J¥—10. |BEFRV<tDY. B
6 12 21 8,739 EE]EE)}% 11%%% FHAK BEAT—T. Z—S—oUr— BBYIEOY. I59RT7 W, |BETF—T, FANR R—FIRE—D— P, HY =T oo &k
7l 6 36 5698 |sAEHME |11 EHKE ERRAR IVvIIRGH). |[T—F0Y. T—FDYh—r)y¥
8]l 7 49 3,795 |EMR |1 EHE EHERAR 2IY—o714)., |EBZT—T
9 2 54 6,616|sAEMzE | 11EHEE BBRE TSI ATy a, [ES— LSO F SN —T A S —T o
11] 20 83 3,058 [11FBHKE EHERAR A== —, [\ E5—=9)yT
12| 4 92 2216[EEHR |1 FHEE EHAS B <RE—h—FuS, [R—ILRUBZ K. I—Hh—RV
1[13 104 1,963 |sA=m% |11 EHKE EEAR R—FAL—Y—S. |tOonNrT—7
2| 8 115 26,779 |FAEHR [11EHRE SHAR S]LS5—FITPRO K- v B, |FyRSAF—REZ, T—TOYh—FvT
3] 3 125 2,750 | sAEHE | IEKE albyH—)—ZKR(FY—RH) |FH3FE28 R ~FHN3F6 A
4] 2 132 1,650 AEME |[11BHFE EHERARE RA—/\—9)¥—
4] 6 2 3275 |REME [ 11BHEE aE—mAfk
6| 26 26 2,855 sEwE [ 11EHEE JE—R#R
7] 6 35 6,869 [EZEHR | 1HHKE JE—R#R
8| 5 47 9,204 sEEHR |1 EHEE JE—A#R
10| 6 68 6,374[EEHR |1 EHEE JE—R#R
12] 4 91 6,374[EEHR |1 EHEE JE—R#R
A 113 6,374[EEHR |1 FHEE JE—R#K
3[17 128 1,280 |sAERR |1 EHE usB
8] 3 46 22,000|sAEm% |11 EHEE HE(A2) (500%%)
11] 25 85 11,550 REHE [11BHE HiE(F2) (500%%)
0| 1,231,895 TTEAE &
7,200,000 BHEns | BUSEHE BEEEE (4~98 %)
5,760,000 BnEnE | IS EEE 75582 (10~3 A %)
12,960,000 0 BB A 0K RAT|
16 FE  |FIE Fa
28 FE  [FIE FIE
44 0 T
12,960,044 9,024,785 B
12,960,000

69.64%




